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PROBLEM 1 [22 points]

For the circuit shown below, with the nonlinear i-v characteristic as shown in the figure,
find all equilibrium states and classify each as stable or unstable:

(a) When the switch S is in position 1 [11 points].
(b) When the switch S is in position 2 [11 poitns].

(a) Equilibrium points and stability:

(b) Equilibrium points and stability:




EXTRA WORKSPACE FOR PROBLEM 1



PROBLEM 2 [25 points]

Consider the circuit shown below.
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where V; () = cos(w?) and L = 2x 104 H, R = 2008

(a) What is |Vou(t)| for @ =0 ? [6 points]
(b) What is |Vou(t)| for @ — ? [6 points]
(¢) What is |Vyu(t)| for o = 10 rad/sec? [13 points]

(a) |Vour(t)| for ® = 0:

(b) |Vout(t)| for @ — oo:

(©) |Vour(t)| for o = 10° rad/sec:



EXTRA WORKSPACE FOR PROBLEM 2



PROBLEM 3 [25 points]

For the circuit below, sketch the V,, vs. t graph in the axis provided for the given input
signal. DO NOT IGNORE THE EFFECTS OF THE OP-AMP RAIL VOLTAGES!
DO NOT CHANGE THE LIMITS ON THE GRAPH!
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EXTRA WORKSPACE FOR PROBLEM 3



EVEN MORE EXTRA WORKSPACE FOR PROBLEM 3



PROBLEM 4 [25 points]

Assuming the op-amp below is ideal, sketch the vy vs. v; characteristic (i.e.. the transfer
characteristic) for the circuit below. Notice the model for the “diode” below is NOT the
ideal diode model. Use the axis provided for your sketch. Mark salient features on your
graph (like the slope of a straight-line segment).




Use the axis below for your sketch, DO NOT CHANGE THE LIMITS!
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EXTRA WORKSPACE FOR PROBLEM 4
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